F£120 € RTEREMEEAHELR/NNL—KR—ILKE

ZFDHEB

FHk 29512A178(R)
IBMETRAEE

£RIKR ERERE A £R=)K B B |seorxgeaz| B
10 - 25 25 - 11
RKRR 0{ 13 -25 2| 2¢{ 25 - 7 %0 1 100 | 1.0735 2
25 - 10 25 - 5
£R=EME A 2{ 25 - 13 0 2{ 25 - 5 0 2 MAX | 3.0303 1
11 - 25 5 - 25
£R=K B 0{ 7 -25 p2|0d 5 - 25 %2 0 0.00 | 0.2800 3
£R=K A £R¥k B HAFE B |meorx|gseas| B
20 - 25 26 - 24
TIR=ZK A 0{ 18 - 25 %2 |23 25 - 19 (o 1 1.00 | 0.9570 2
25 - 20 25 - 14
£iR¥ME B 2< 25 - 18 0 2{ 25 - 22 0 2 MAX | 1.3514 1
24 - 26 14 - 25
PHAE 0< 19 - 25 2 [0 22 - 25 32 0 0.00 | 0.7822 3
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